CHAPTER 10 CIRCLES
ASSIGNMENT-09

SUBJECT: MATHEMATICS MAX. MARKS : 40
CLASS : X DURATION : 1% hrs

General Instructions:

(). All questions are compulsory.

(if). This question paper contains 20 questions divided into five Sections A, B, C, D and E.

(iii). Section A comprises of 10 MCQs of 1 mark each. Section B comprises of 4 questions of 2 marks
each. Section C comprises of 3 questions of 3 marks each. Section D comprises of 1 question of 5
marks each and Section E comprises of 2 Case Study Based Questions of 4 marks each.

(iv). There is no overall choice.

(v). Use of Calculators is not permitted

SECTION-A

Questions 1 to 10 carry 1 mark each.

1. In the given below figure, point P is 26 cm away from the centre O of a circle and the length PT

of the tangent drawn from P to the circle is 24 cm. Then the radius of the circle is
T

(@ 25cm (b) 26 cm (c)24cm (d) 10cm

2. Inthe figure AT is a tangent to the circle with centre O such that OT =4 cm and ~OTA = 30°.
Then AT is equal to

(a) 4 cm (b) 2 cm (c) 2¥3 cm (d) 4v3 cm
4 C,
A T

3. Infigure if O is centre of a circle, PQ is a chord and the tangent PR at P makes an angle of 50°
with PQ, then ~POQ is equal to

(a) 100° (b) 80° (c) 90° (d) 75°

4. Infigure, O is the centre of a circle, AB is a chord and AT is the tangent at A. If ~AOB = 100°,
then ~BAT is equal to
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(2) 100° (b) 40° (c) 50° (d) 90°

5. Inthe figure PA and PB are tangents to the circle with centre O. If ~APB = 60°, then ~OAB is

(a) 30° (b) 60° (c) 90° (d) 15°

6. In the given figure, TP and TQ are two tangents to a circle with centre O, such that ~.POQ =
110°. Then #PTQ is equal to

P

(a) 55° (b) 70° (c) 110° (d) 90°

7. Infigure, AP, AQ and BC are tangents to the circle. If AB=5cm, AC =6 cmand BC =4 cm,
then the length of AP (in cm) is

(@) 7.5 (b) 15 (c) 10 (d) 9

8. Infigure, PQ and PR are tangents to a circle with centre A. If ~QPA = 27°, then QAR equals to

(a) 63° (b) 153° (c) 126° (d) 117°
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In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of
reason (R). Mark the correct choice as:

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

9. Assertion (A): From a point Q, the length of the tangent to a circle is 24 cm and the distance of
Q from the centre is 25 cm then the radius of the circle is 7 cm.
Reason (R): A tangent to a circle is perpendicular to the radius through the point of contact

10. Assertion (A): In the below figure, AB and CD are common tangents to circles which touch
each other at D. If AB =8 cm, then the length of CD is 4 cm

Reason (R): A tangent to a circle is perpendicular to the radius through the point of contact

SECTION -B

Questions 11 to 14 carry 2 marks each.

11. In the below figure, there are two concentric circles, with centre O and of radii 5 cm and 3 cm.
From an external point P, tangents PA and PB are drawn to these circles. If AP =12 cm, find the
length of BP.

-y

12. In figure, a circle touches the side BC of AABC at P and touches AB and AC produced at Q and

R respectively. If AQ =5 cm, find the perimeter of AABC.
A

13. Two tangents PA and PB are drawn to the circle with centre O, such that Z/APB = 120°. Prove
that OP = 2AP.

14. In figure, AP and BP are tangents to a circle with centre O, such that AP =5 cm and ZAPB =
60°. Find the length of chord AB.
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SECTION-C

Questions 15 to 17 carry 3 marks each.

15. Prove that the intercept of a tangent between two parallel tangents to a circle subtends a right
angle at the centre.

16. In figure, from an external point P, two tangents PT and PS are drawn to a circle with centre O
and radius r. If OP = 2r, show that ~OTS = ~OST = 30°.

17. In figure, two equal circles, with centres O and O’, touch each other at X. OO’ produced meets
the circle with centre O" at A. AC is tangent to the circle with centre O, at the point C. O'D is

perpendicular to AC. Find the value of <o

SECTION-D

Questions 18 carry 5 marks.

18. In figure, the sides AB, BC and CA of triangle ABC touch a circle with centre O and radius r at
P, Q and R respectively.
Prove that
(i) AB+CQ=AC +BQ

(i) Area (AABC) = ) (perimeter of AABC) x r
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SECTION - E (Case Study Based Questions)

Questions 19 to 20 carry 4 marks each.

19. The discus throw is an event in which an athlete attempts to throw a discus. The athlete spins
anti-clockwise around one and a half times through a circle, then releases the throw. When

released, the discus travels along tangent to the circular spin orbit.

In the given figure, AB is one such tangent to a circle of radius 75 cm. Point O is centre of the
circle and ZABO = 30°. PQ is parallel to OA.

Based on the above, information:
(a) Find the length of AB. (1)
(b) Find the length of OB. (1)
(c) Find the length of AP. (2)

OR

(c) Find the length of PQ. (2)

20. Circles play an important part in our life. When a circular object is hung on the wall with a cord
at nail N, the cords NA and NB work like tangents. Observe the figure, given that ZANO = 30°
and OA =5 cm.
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Based on the above, answer the following questions:

(a) Find the distance AN.

(b) Find the measure of ZAOB.

(c) Find the total length of cords NA, NB and the chord AB.
OR

(c) If £ANO is 45°, then name the type of quadrilateral OANB.
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